http://geo.mff.cuni.cz/~lh

Plochy — potrava pro oko

Kulova plocha

x = rsindcosp, 0<I<7m 0< <27
y = rsindsing
z = rcosd

4yt —rt=0

Trojosy elipsoid

x = asindcosp, 0<I<m 0<p<2m
y = bsindsing

z = ccos?

2 2 2
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a b c
Banan
x = asindcosp, 0<I<m 0<p<2m
y = bsindsing
z = b(cosV + csin® ¥ cos? p)

pf.a=1,0=02, c=2

Vajicko (http://www.mathematische-basteleien.de/eggcurves.htm)

x = asinvcosp, 0<I<m 0<p<2m
y = asindsing
z b cos )V eccos?

v

pr. a_: 1.4, b= 1.8, ¢ = 0.3 s kulovou plochou r =1

Kleintiv bagel (http://en.wikipedia.org/wiki/Klein_bottle)

r = (A + cos 5 sinv — sin § sin 21}) Cos U

y = (A+cosysinv—sinysin2v)sinu 0<u<2m, 0<v <2
z = singsinv + cos g sin2v

pr. A =25

Snek (http://virtualmathmuseum.org/Surface/snailshell/snailshell.html)
V = v+ &+ E)?

r = (A+ Bcosu)e Y cosV

—r<u<m —2<v<
y = (A+ Bceosu)e “VsinV T<u<m —2<0v<25
z = D(l - e_CV) + Be %Vsinu

pr. A=1, B=14, C=0.05 D=6, E=-2
Kaprik (http://en.wikipedia.org/wiki/Spherical_harmonics)

T(’ﬂa@) = ma‘X(|R’e(}/00)|a'-'a|R'e(YE’>3)|)a 0§’l9§7‘(’, OSSOSZT‘-
Yim(9, ) = NimPuyn(cos?)e™?, Ny, = 251_47;1 8;2;:

x = r(d,¢)sindcosp

Yy = 1, p)sindsinep

z = r(9,¢)cost

Srdce (http://mathworld.wolfram.com/HeartSurface.html)
(am2 + by? + c2? — 1)3 —da?2® —ey?22 =0

Sirokésrdce a=1, b= %, c=1,d=1, 6:8%
Uzky exempldif a =2, b=2, c=1,d=1, e= 1_10

Obrazky pripraveny v ParaView, www.paraview.org.
L. H., 2. 2. 2016




